Forces as Vectors - Edexcel Past Exam Questions MARK SCHEME

Question 1:June 08 Q3

2?‘:2:: Scheme Marks
8
(a) | tan8= g M1
g~53° Al(2)
®) | F=04(6i+8j) (=2.4i+3.2j) M1
[F|=v(24° +32*)=4 M1 Al (3)
Question 2 : Jan 09 Q6
Szﬁls;ieorn Scheme Marks
(a)
] 2
tan9=—1=>9=63.4° M1 A1
6 angle is 153 4° A1 (3)
b
(b) . _ -
4+ pli+(g—5)i
(¢-5)=-2(4+p) M1 At
2p+q+3=0*%* Al (4)
() e Y B
= R=2i—4j o
=R =422+ () =V20 M1 A1 f.t.
J20 = m8y5 M1 A1 f.t.
=m =% A1l cao
(7)
[14]
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Question 3 : June 09 Q2

Question

PR Scheme Marks
(@) | tang=£=6=26.6° M1 AT (2)
(b)
R=(i-3j)+(pi+2pj)=(1+pi + (-3 +2p)j M1 A1
R s paralleltoi = (-3+2p)=0 DM1
. 3 Al (4)
= p= %
[6]
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